
 

 

ENGLISH QUIZ 

 
1.It ______ my brother. 

(A) is ages that I didn't see 

(B) is ages since I saw 

(C) was ages that I haven't seen 

(D) was ages since I saw 

ANSWER: b 

 

2."Did you speak to Juliet?" "No, I've ______ seen her." 

(A) nearly 

(B) hardly 

(C) often 

(D) always 

ANSWER: b 

 

3.The doctor gave me a ______ for some medicine yesterday. 

(A) note 

(B) receipt 

(C) prescription 

(D) recipe 

ANSWER: c 

 

4.Is Jo ______ Chris? 

(A) taller than 

(B) taller 

(C) as tall as 

(D) more tall 

ANSWER: c 

 

5.They have put speed bumps on the road to ______ accidents. 

(A) avoid 

(B) prohibit 

(C) prevent 

(D) forbid 

ANSWER: c  

 



 

 

6.You should ______ your homework 

(A) make 

(B) do 

(C) work 

(D) give 

ANSWER: b 

 

7."Where's the ______ post office, please?" 

(A) most near 

(B) near 

(C) more near 

(D) nearest 

ANSWER: d  

 

8.He told me that he ______ in Spain the previous year. 

(A) has been working 

(B) had been working 

(C) has worked 

(D) had been worked 

ANSWER: b 

 

9.Tim ______ work tomorrow. 

(A) isn't going 

(B) isn't 

(C) isn't going to 

(D) isn' to 

ANSWER: c 

 

10.______ to school yesterday? 

(A) Do you walk 

(B) Did you walked 

(C) Did you walk 

(D) Have you walked 

ANSWER: c 

 

 

11.Directions: In the questions, a part of the sentence is given in Underline. Below are given alternatives to 

the Underline part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In 



 

 

case no improvement is needed your answer is (D). 

The interesting tale had its beginning more than fifty years ago.  

(A) was started 

(B) initiated 

(C) began 

(D) No improvement 

ANSWER: c 

 

12.Directions: In the questions, a part of the sentence is given in Underline. Below are given alternatives to 

the Underline part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In 

case no improvement is needed your answer is (D). 

We did not see this movie yet.  

(A) have not seen to 

(B) never have seen 

(C) never seen 

(D) No improvement 

ANSWER: a 

 

13.Directions: In the questions, a part of the sentence is given in Underline. Below are given alternatives to 

the Underline part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In 

case no improvement is needed your answer is (D). 

 Loose tea leaves are kept in a tea box.  

(A) cosy 

(B) caddy 

(C) tin 

(D) No improvement 

ANSWER: b 

 

14.Directions: In the questions, a part of the sentence is given in Underline. Below are given alternatives to 

the Underline part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In 

case no improvement is needed your answer is (D). 

Sincere workers do not rest till they have reached perfection in their work.  

(A) they have achieved 

(B) they having reached 

(C) they had achieved 

(D) No improvement 

ANSWER: a 



 

 

15.Directions: In the questions, a part of the sentence is given in Underline. Below are given alternatives to 

the Underline part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In 

case no improvement is needed your answer is (D). 

Unless they modify the system, our future generations will suffer.  

(A) Unless the system will be modified 

(B) If the system will not be modified 

(C) Unless the system is modified 

(D) No improvement 

ANSWER: c 

 

16.Directions: In the questions, a part of the sentence is given in Underline. Below are given alternatives to 

the Underline part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In 

case no improvement is needed your answer is (D). 

The boy said that he has read the book.  

(A) he had read 

(B) he has finished to read 

(C) he has already read 

(D) No improvement 

ANSWER: a 

 

17.Directions: In the questions, a part of the sentence is given in Underline. Below are given alternatives to 

the Underline part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In 

case no improvement is needed your answer is (D). 

You are a mechanic, aren't you?  

(A) isn't 

(B) are 

(C) wasn't 

(D) No improvement 

ANSWER: d 

 

18.Directions: In the questions, a part of the sentence is given in Underline. Below are given alternatives to 

the Underline part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In 

case no improvement is needed your answer is (D). 

I usually did not take sugar in my tea.  

(A) have not taken 

(B) do not take 

(C) do not takes 

(D) No improvement 

ANSWER: c 



 

 

19.Directions: In the questions, a part of the sentence is given in Underline. Below are given alternatives to 

the Underline part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In 

case no improvement is needed your answer is (D). 

The autumn season of Parliament will begin on Monday.  

(A) cession 

(B) mission 

(C) session 

(D) No improvement 

ANSWER: c 

 

20.Directions: In the questions, a part of the sentence is given in Underline. Below are given alternatives to 

the Underline part at (A), (B) and (C) which may improve the sentence. Choose the correct alternative. In 

case no improvement is needed your answer is (D). 

The camera I bought recently is not convenient.  

(A) hard to use. 

(B) difficult to use. 

(C) easy to use 

(D) No improvement 

ANSWER: c 

 

 


